Topic: Coding-Decoding
Time: 10min
Paper-Maker Monika Awasthi

Directions (1-5): S € STAHIY T LATTYAH AT FL L A1 T 1T 3077 % IAT AT
e A3 Fe T H,

‘Sleep Head Loss’ #T ‘ep eh os’ & &9 # for@r Srar g,

‘Fine Success Penalty’ T ‘re st mk’ % =7 & forat STTaT 2,

‘Beware Penalty Profit’ & ‘df st wq’' ¥ &9 # ferar sirar 2,

‘Head Fine Beware’ & ‘mk df eh’ ¥ &7 # ferar st 2.

Q1. =¥ 72 Fe AT 7 ‘Profit’ F forw 41 %= 87
(a) re

(b) st

(c) mk

(d) wq

(e) =TH | FIs gl
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Q2. Z¥ < T AT H ‘Fine’ % forw #41 Fi2 €7
(a) re

(b) st

(c) wq

(d) df

(e) =¥ & FIS 7ol
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Q3. 31 T Fe ATIT H ‘Loss’ F forw a1 Fw 87
(a) ep

(b) eh

(c) os

(d) mk

(e) Can’t be determined
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Q4. <1 7IE Fe AT 7 ‘Beware Sleep Penalty’ & forw #471 Fie €7
(a) re st mk

(b) ep df os

(c) df os st

(d) mk wq df

(e) TAH A AL 7"@
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Q5. ‘Success Story’ & o7 F4T Fic g7 T 57
(a) mksd

(b) st mk

(c) resd

(d) wq os

(e) =H & FIS Tal
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Directions (6-10): S T STHSHE FT SATIAF (eI < A T faw 70 w3 3= <ifSre-
e fAfara g s H,

‘Agent Industry Order’ #T ‘rd en dy’ % &7 & feraT ST 2,

‘Organized Agent Paper’ &T ‘op pg en’ % &7 # ferar T 2,

‘Industry Ready Order’ #T ‘dy rd ae’ % &7 & ferar it 2,

‘Agent Long Cry’ &T ‘en yg cn’ % &9 § forat STTar 2.

Q6. ¥ T2 Fe AT # ‘Ready’ F forw a1 %= 872
(a)rd

(b) ae

() dy

(d) cn

() =% & F7E 7T

L1Difficulty1

QTags Coding-Decoding

Q7.7 ‘Organized’ 7 ‘pg’ & = # Feaa T SITaT 2. a7 &1 T Fie w91 § ‘Bank Paper’ # forg /7
T2 ?

(a) op ae

(b) yg pg

(c) ygop

(d) opkb

() =7 & #7E 7
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Q8. =¥ 7% Fe AT # ‘Industry’ & forw #1 FT 57
(a) en

(b) pg

(crd

(d) dy

(e) Fatfa 7t frar ST gerar
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Q9. @ T Fe ATT H ‘order Smart Cry’ ¥ forw 47 %= 82
(a) rdmrew

(b) dyygmr

(c) ygenmr

(d) cnygrd

(e) T7H T T Al
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Q10. ‘long’ % forT 4T %z BT THAT 7
(a) op
(b) cn

(c)yg

(d) @ T (b) =T (c)

() =¥ & e LK
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Directions (11-15): € TS SIS T SAMYAF AT FL. S A fQq 1T 7571 % I QAfore-
u AT g s H,
‘Loss Profit Strong’ #T ‘os if gn’ % =7 # foraT STaT 2,
‘Profit Chart Strong’ T ‘rt gn if % =7 § feraT ST 2,
‘Boat Profit Cost’ #T ‘if ot so’ % =7 & feraT ST 2,
‘Strong Chart Profit’ T ‘gn rt if 3 =9 § forat Sirar 2.

Q11.=¥ 12 Fe Wt # ‘Chart’ % forg =1 %2 87
(a) gn

(b) if

(c) ot

(d) rt

(e) =% & F7E T
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Q12. == ‘Boat’ #T ‘so’ F & | Fieaq AT ST TdT 2. AT &T TS Fic 99T # ‘article cost’ F forw #471 F=
2?

(a) le if

(b) otle

(c) so gn

(d) if rt

(e) TTH & FT AL
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Q13. 5t 7% Fe wraT 7 ‘Profit’ F forw =1 Fw 87
(a) if

(b) gn

(c) ot

(d) rt

(e) Fatfa gt T ST aerar
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Q14. F < Fe wruT # ‘Strong’ F orw F47 FiT 77
(a) if

(b) rt

(c) gn

(d) so

(e) TAH & FIs A5l
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Q15. ‘Loss Chart cost’ & forT 47 %z 2T F%haT 87
(a) so gn ot

(b) if gn ot

(c) osgnot

(d) so gn if

(e) =¥ & FIS 7ol
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Solutions

Solution (1-5):

Sol.
Word Code
Fine mlk
Success re
Penalty st
Profit wq
Beware df
Sleep/Loss | ep/os
Head eh

S1. Ans.(d)

S2. Ans.(e)

S3. Ans.(e)



S4. Ans.(c)
S5. Ans.(c)

Solution (6-10):

Sol.

Word

Code

Agent

en

Industry/order

rd/dy

Organized/paper

op/pg

Ready

ae

Long/Cry

yg/cn

S6. Ans.(b)
S7.Ans.(d)
S8. Ans.(e)
S9. Ans.(b)
S10. Ans.(d)

Solution (11-15):

Sol.

Word

Code

Loss

05

Profit

If

Strong

gn

Chart

rt

Boat/Cost

ot/so

S11. Ans.(d)
S12. Ans.(b)
S13. Ans.(a)
S14. Ans.(c)
S15. Ans.(e)




